
S.No. Language Question Option 1 Option 2 Option 3 Option 4

1 English
The limiting molar conductivities for NaCl, KBr 

and KCl are 126,152 and 150 Scm2mol-1  
respectively. The molar conductivities of NaBr is

278 Scm2mol-1 428 Scm2mol-1 128 Scm2mol-1 302 Scm2mol-1

Hindi
NaCl, KBr और KCl  के ͧलए सीमाÛत मोलर 
चालकता Đमशः 126, 152 और 150 Scm2 mol-1 
है। तो NaBr कȧ सीमाÛत मोलर चालकता होगी

278 Scm2mol-1 428 Scm2mol-1 128 Scm2mol-1 302 Scm2mol-1

2 English
The ratio of the time required for ¾ th of the 
reaction of first order to complete to the required 
for half of the reaction is:

3:04 2:01 1:02 4:03

Hindi
Ĥथम कोǑट कȧ अͧभͩĐया के ͧलए 3/4 भाग और 
½ भाग पणू[ होन ेके ͧलए लगने वाल ेआवæयक 
समय का अनुपात है।

3:04 2:01 1:02 4:03

3 English

The mathematical expression Kc for the 
 reversible  chemical reaction 

Hindi

एक उ×Đमणीय अͧभͩĐया

के ͧलए साàय िèथरांक का सहȣ मान होगा।

4 English
Which of the following electrolyte requires 
maximum concentration to cause coagulation of 
Fe(OH)3 sol?

AlCl3 MgSO4 K3[Fe(CN)6] KCl
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Hindi
Ǔनàनͧलͨखत म ेस ेफेǐरक हाइɼराÈसाइड साँल 
के èकÛदन के ͧलए ͩकस ͪवɮयुत अपघɪय के 
अͬधक साÛġ ͪवͧलयन कȧ आवæकता होगी।

AlCl3 MgSO4 K3[Fe(CN)6] KCl

5 English
This reaction is known as:

Wurtz Fittig reaction Fittig reaction Wurtz reaction Ullmann reaction

Hindi
 

यह अͧभͩĐया कहलाती है।

वटु[ज ͩफǑटग 
अͧभͩĐया ͩफǑटग अͧभͩĐया वटु[ज अͧभͩĐया अलामन अͧभͩĐया

6 English
CH3CH2OH can be converted in to CH3CHO  
treated by-

PCC LiAlH4 Catalytic H2 NaBH4

Hindi
एͬथल अãकोहल को एͧसटिãडहाइड म ेपǐरवǓत [त 
कर सकत ेहै। PCC LiAlH4 उ×Ĥेǐरकȧ H2 NaBH4

7 English

Fehling solution A & B contains  
 (i)Copper sulphate                        
 (ii) Disodium tartrate                   
 (III) Sodium Pot. tartrate                   
(iv) Silver nitrate

I and II I and III III and IV I and IV

Hindi

फेहͧलगं ͪवͧलयन अ और ब म ेहोता है।
(I) कापर सãफेट ͪवͧलयन
(II) सोͫडयम टारटैरेट ͪवͧलयन
(III) सोͫडयम पोटैͧशयम टारटैरेट ͪवͧलयन
(IV) ͧसलवर नाइĚेट ͪवͧलयन

I and II I and III III and IV I and IV

8 English Which of the following acids is a vitamin? Aspartic acid Adipic acids Saccharic acid Ascorbic acid

Hindi Ǔनàनͧलͨखत म ेकौन सा अàल ͪवटाͧमन है? एèपाǑट[क अàल एͫडͪपक अàल सकैǐरक अàल एèकाǒब[क अàल

9 English
The electronegativity of C, N, P and Si increases 
in order-

C < N < Si < P N < Si < C < P Si < P < C < N P < S < N < C

Hindi
C, N, P and Si  के ͪवɮयुत ॠणा×मकता के बढ़ने 
का सहȣ Đम है। C < N < Si < P N < Si < C < P Si < P < C < N P < S < N < C

10 English
When 1 mol CrCl3.6H2O reacted with an excess 
of AgNO3 solution 3 mol of AgCl are obtained. 
The correct complex is:

[CrCl3 (H2O)3].3H2O [Cr (H2O)6] Cl3
[CrCl2 

(H2O)4]Cl.2H2O
[CrCl 
(H2O)5]Cl2.H2O



Hindi
जब CrCl3.6H2O के 1 मोल म ेAgNO3 आͬधÈय 
म ेͪवͧलयन ͧमलाया जाता है तो तीन मोल AgCl 
ĤाÜत होता है। जǑटल यौͬगक का सğू-

[CrCl3 (H2O)3].3H2O [Cr (H2O)6] Cl3
[CrCl2 

(H2O)4]Cl.2H2O
[CrCl 
(H2O)5]Cl2.H2O

11 English
The oxidation state of the S- atom in Caro’s acid 
H2SO5

8 5 4 6

Hindi
कैरो अàल (H2SO5) म ेसãफर कȧ आÈसीकरण 
सÉंया ͩकतनी है। 8 5 4 6

12 English
Butadiene and styrene are polymerized to form a 
synthetic rubber

Polyester Buna-S Buna-N Orlon

Hindi
Þयुटाडाइन और पालȣिèटरȣन के बहुलȣकरण स े
बनने वाला ͧसÛथǑेटक रबर है। पालȣèटर बनूा-एस बनूा-एन ओला[न

13 English
The name of the gas was leaked in the Bhopal 
tragedy in 1984

MIC BHC 2,4-D DDT

Hindi
भोपाल गसै ğासदȣ म ेǐरसाव होन ेवालȣ गसै का 
नाम है। एम आइ सी बी एच सी 2,4-डी डी डी टȣ

14 English
Which type of coal have the maximum  heat 
content

Peat Lignite Anthracite bituminous

Hindi
ͩकस Ĥकार के कोयल ेम ेईधन कȧ माğा अͬधक 
होती है। पीट ͧलÊनाइट एÛĠासाइट ǒबटुͧमनस​

15 English Coke is used in metallurgical process chiefly as: Oxidizing agent Flux Slag Reducing agent

Hindi
धात ुǓनçकष[ण म ेकोक मÉुयत: उपयोग म ेलाया 
जाता है। आÈसीकारक ÝलÈस धातमुल​ अपचायक

16 English
Which of the following is an example of 
absorption

Water on silica gel
Water on calcium 
chloride

Hydrogen gas on 
nickel

Oxygen on metal 
surface

Hindi
Ǔनàनͧलͨखत म ेस ेकौन सा अवशोषण का 
उदाहरण है?

ͧसͧलका जेल पर 
पानी

कैिãसयम Èलोराइड 
पर पानी

Ǔनͩकल पर 
हाइĜोजन गसै

धात ुकȧ सतह पर 
आÈसीजन

17 English
Inversion of cane sugar  is catalysed by the 
enzyme:

Maltase Invertase Zymase Mycoderma aceti

Hindi शक[ रा का इÛवज[न ͩकस एÛजाइम स ेहोता है। माãटेज इनवटȶज जाइमेज माइकोड[मा एͧसटाई

18 English
The softening of hard water by ion exchange 
process -

TDS decreases TDS increase No change of TDS None of these



Hindi
आयन अदला बदलȣ ͪवͬध स ेकठोर जल सोÝट 
जल म ेपǐरवǓत [त होता है। तो- TDS कम TDS अͬधक  TDS नहȣ बदलता इसम ेस ेकोई नहȣ

19 English
Which of the following hazardous metal in the 
main effluent of tannery industries

Chromium Nickel Copper Molybdenum

Hindi
Ǔनàनͧलͨखत म ेस ेचमड़ा उɮयोग के मÉुय 
बǑह:Ĥवाहȣ जल के साथ Ǔनकलने वाल ेकौन स े
खतरनाक त×व है।

Đोͧमयम Ǔनͩकल कापर मोͧलÞडनेम

20 English
Which of the following condition is not suited 
for anaerobic treatment of solid wastes?

Controlled 
temperature

Controlled moisture Closed vessel Open vessel

Hindi
ǓनिàÛलͨखत म ेस ेठोस अपͧशçट के अवायवीय 
उपचार के ͧलए कौन सी शत[ सहȣ नहȣ है। सीͧमत ताप सीͧमत नमी बÛद पाğ खुला पाğ

21 English
Which of the following molecules is involved in 
the regulation of the cell cycle?

ATP Cyclins Glycerol Acetylcholine

Hindi
Ǔनàनͧलͨखत मɅ स ेकौन सा अणु कोͧशका चĐ 
के Ǔनयमन मɅ शाͧमल है?

एटȣपी चĐवात िÊलसरॉल एͧसटाइलकोलाइन

22 English
Which of the following is a component of a 
nucleotide?

Amino acid Fatty acid Nitrogenous base Carbohydrate

Hindi
Ǔनàन मɅ स ेकौन सा ÛयूिÈलयोटाइड का घटक 
है?

अमीनो एͧसड फैटȣ एͧसड नाइĚोजनस बेस काबȾहाइĜटे

23 English
Which of the following statements about sex-
linked inheritance is true?

Only males can be 
carriers of sex-
linked traits

Sex-linked traits are 
always dominant 
over non-sex-linked 
traits

Females are more 
likely to express sex-
linked traits than 
males

Sex-linked traits are 
only found on the Y 
chromosome

Hindi
सÈेस स ेजुड़ी ͪवरासत के बारे मɅ Ǔनàनͧलͨखत 
मɅ स ेकौन सा कथन स×य है?

केवल पǽुष हȣ 
सÈेस स ेजुड़ ेल¢णɉ 
के वाहक हो सकत ेहɇ

सÈेस-ͧलÈंड ल¢ण 
हमेशा गैर-सÈेस-
ͧलÈंड ल¢णɉ पर 
हावी होत ेहɇ

पǽुषɉ कȧ तलुना मɅ 
मǑहलाओं मɅ सÈेस 
स ेजुड़ ेल¢णɉ को 
åयÈत करने कȧ 
सभंावना अͬधक 
होती है

सÈेस स ेजुड़ ेल¢ण 
केवल वाई गणुसğू 
पर पाए जात ेहɇ

24 English
Which of the following laws describes the 
separation of homologous chromosomes during 
meiosis?

Law of segregation
Law of independent 
assortment

Law of dominance Law of inheritance

Hindi
Ǔनàनͧलͨखत मɅ स ेकौन सा कानून 
अध[सğूीͪवभाजन के दौरान समǾप गणुसğूɉ के 
पथृÈकरण का वण[न करता है?

अलगाव का कानून èवतğं वगȸकरण का 
कानून Ĥभ×ुव का कानून ͪवरासत का कानून



25 English
Which of the following is a non-essential amino 
acid?

Leucine Arginine Tyrosine Histidine

Hindi
Ǔनàन मɅ स ेकौन सा एक गरै-आवæयक अमीनो 
एͧसड है?

ãयूसीन आͬग[Ǔनन टायरोͧसन Ǒहèटडीन

26 English The property of DNA polymerase III include.
It can initiate DNA 
synthesis

It has 5’ to 3’ 
exonuclease activity

It has 3’ to 5’ 
exonuclease activity

It requires a primer 
to initiate DNA 
synthesis

Hindi डीएनए पोलȣमरेज़ III कȧ सपंͪƣ मɅ शाͧमल हɇ। यह डीएनए सæंलेषण 
आरंभ कर सकता है

इसमɅ 5' स े3' 
एÈसोÛयूिÈलएज 
गǓतͪवͬध है

इसमɅ 3' स े5' 
एÈसोÛयूिÈलएज 
गǓतͪवͬध होती है

डीएनए सæंलेषण 
आरंभ करने के ͧलए 
इस ेएक Ĥाइमर कȧ 
आवæयकता होती है

27 English
Which of the following is a characteristic of 
ribonucleotides but not deoxyribonucleotides?

They contain a 
hydroxyl group at 
the 2’ position of the 
sugar

They are found in 
RNA molecules

They can form base 
pairs with 
deoxyribonucleotides

They are involved in 
DNA replication

Hindi
Ǔनàनͧलͨखत मɅ स ेकौन राइबोÛयूिÈलयोटाइɬस 
कȧ ͪवशषेता है लेͩ कन 
डीऑÈसीराइबोÛयूिÈलयोटाइɬस नहȣं है?

इनमɅ शक[ रा कȧ 2' 
िèथǓत पर एक 
हाइĜॉिÈसल समहू 
होता है

व ेआरएनए अणुओ ं
मɅ पाए जात ेहɇ

व े
डीऑÈसीराइबोÛयूिÈल
योटाइɬस के साथ 
आधार जोड़ ेबना 
सकत ेहɇ

व ेडीएनए ĤǓतकृǓत 
मɅ शाͧमल हɇ

28 English
Which of the following structures is not found in 
prokaryotic cells?

Cytoplasmic 
membrane

Flagella
Endoplasmic 
reticulum

Cytoplasmic 
inclusion

Hindi
Ǔनàनͧलͨखत मɅ स ेकौन सी सरंचना 
ĤोकैǐरयोǑटक कोͧशकाओ ंमɅ नहȣं पाई जाती है?

साइटोÜलािÏमक 
ͨझãलȣ Ýलगेैãला एंडोÜलािÏमक 

रेǑटकुलम
साइटोÜलािÏमक 
समावेशन

29 English
Which of the following is not a type of 
nutritional requirement of bacteria?

Phototrophs Chemotrophs Heterotrophs Magnetotrophs

Hindi
Ǔनàन मɅ स ेकौन सा बÈैटȣǐरया कȧ पोषण 
सबंधंी आवæयकता का एक Ĥकार नहȣं है?

फोटोĚोÝस केमोĚोÝस ͪवषमपोषी मÊैनेटोĚॉāस

30 English What is the purpose of PCR technology?
To amplify specific 
DNA sequences

To sequence DNA
To cut DNA at 
specific locations

To identify proteins



Hindi पीसीआर तकनीक का उɮदेæय Èया है?
ͪवͧशçट डीएनए 
अनĐुमɉ को बढ़ाना

डीएनए अनĐुम 
करने के ͧलए

ͪवͧशçट èथानɉ पर 
DNA को काटने के 
ͧलए

Ĥोटȣन कȧ पहचान 
करने के ͧलए

31 English
Air is a mixture of 79 mole% nitrogen 
&21mole% oxygen, its average molecular weight 
is

79 21 22.12 28.84

Hindi
हवा, 79 मोल ĤǓतशत नाइĚोजन तथा 21 मोल 
ĤǓतशत आÈसीजन का ͧमĮण है, इसका औसत 
अणुभार है।

79 21 22.12 28.84

32 English The objective of By-pass stream in a process is to
Utilize the valuable 
reactants

Control the 
composition of final 
exit stream

Get high extent of 
reaction

All of these

Hindi
ͩकसी Ĥोसेस मɅ बाईपास èĚȣम का Èया उɮदेæय 
होता है।

कȧमती अͧभकारक 
को उपयोग करना

अǓंतम Ǔनग[त èĚȣम 
का सघंटन Ǔनयǒंğत 
करना

अͧभͩĐया कȧ उÍच 
सीमा ĤाÜत  करना यह सभी

33 English
Heat capacities of solids can be calculated by the 
help of

Kopp’s Rule Maxwell Equation Dalton’s Law Henry’s Law

Hindi
ठोसɉ के ऊçमा धाǐरता कȧ गणना ͩकसकȧ 
सहायता स ेकर सकत ेहɇ। कोÜपस Ǿल से मÈैसवेल समीकरण 

से डãेटन लॉ से हेनरȣ लॉ से

34 English
Enthalpy changes over a constant pressure path 
are always zero for

Any Gas A perfect Gas
An easily liquefiable 
Gas

A real Gas

Hindi
िèथर दाब पथ पर एÛथालपी  मɅ पǐरवत[न 
ͩकसके ͧलए हमेशा शÛूय होता है।

ͩकसी भी गैस के 
ͧलए परफेÈट गसै के ͧलए

आसानी स ेġवीभतू 
होन ेवाल ेगसै के 
ͧलए

ǐरयल गसै के ͧलए

35 English The steady flow of Fluid occurs when
Conditions do not 
change with time at 
any point

Rate of change of 
velocity is constant

Conditions change 
steadily with time

None of these

Hindi ġव का िèथर Ĥवाह होता है तब

ͩकसी भी ǒबदं ुपर 
समय के साथ 
कंडीशसं मɅ कोई 
पǐरवत[न नहȣं होता है

वेग कȧ दर मɅ 
पǐरवत[न िèथर होता 
है

समय के साथ 
कंडीशसं मɅ Ǔनरंतर 
पǐरवत[न होता है

इनमɅ स ेकोई नहȣं

36 English
The relationship of Head H, and Power P, with 
Impeller Speed N, of a Centrifugal Pump is H ∝ N3,  P ∝ N2 H ∝ N,  P ∝ N3 H ∝ N2,  P ∝ N3 H ∝ N2,  P ∝ N

Hindi
अपकɅ ġȣ पपं के हेड H, पावर P, तथा इसके 
इàपेलर èपीड N, मɅ Èया सàबÛध है। H ∝ N3,  P ∝ N2 H ∝ N,  P ∝ N3 H ∝ N2,  P ∝ N3 H ∝ N2,  P ∝ N



37 English What is the unit of Heat Transfer Coefficient? J s-1 m-1 oK-1 J s-1 m-2 oK-1 J s-1 m-2 oK-2 J s-1 m-3 oK-1

Hindi उçमा èथानाÛतरण Ǔनयतांक का Èया माğक है? J s-1 m-1 oK-1 J s-1 m-2 oK-1 J s-1 m-2 oK-2 J s-1 m-3 oK-1

38 English
Which type of Heat Exchanger is preferred for 
heavy heat loads?

Plate type heat 
exchanger

Double pipe heat 
exchanger

Series and parallel 
set of Shell &Tube 
heat exchanger

None of these

Hindi
अͬधक उçमीय भार के ͧलए ͩकस Ĥकार के 
ऊçमा ͪवǓनमयक को Ĥाथͧमकता दȣ जाती है?

Üलेट टाइप ऊçमा 
ͪवǓनमयक

डबल पाइप ऊçमा 
ͪवǓनमयक

शलै तथा ɪयूब 
ऊçमा ͪवǓनमयक के 
Įेणी एव ंसामानांतर 
सेट

इनमɅ स ेकोई नहȣं

39 English
At the condition of total reflux in a distillation 
coloumn

Reflux ratio is 
infinity

Both the operating 
lines coincide with 
the diagonal

Both (a) & (b) None of these

Hindi
एक आसवन कालम मɅ टोटल  ǐरÝलÈस  कȧ 
दशा मɅ

ǐरÝलÈस  अनुपात 
अनंत होता है

दोनɉ आपरेǑटगं 
लाइÛस डायगोनल 
के साथ कोनसाइड 
होती हɇ

(अ) और (ब) दोनɉ इनमɅ स ेकोई नहȣं

40 English
The Azeotropic Distillation Process is employed 
to separate the

Heat Sensitive 
materials

High boiling mixture
Mixture with very 
high relative 
volatility

Constant boiling 
mixture

Hindi
एिजओĚोͪपक आसवन ĤͩĐया Ǔनàन मɅ स ेͩकस े
अलग करने मɅ ĤयÈुत होता है।

उçमीय सवेंदनशील 
पदाथ[ उÍच Èवथन ͧमĮण

उÍच अपेͯ ¢त 
वाçपशीलता  वाल े
ͧमĮण

िèथर Èवथन ͧमĮण


